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The Fall of Rome

The Roman Empire’s period of greatness lasted about two hundred years.  It began with the reign of Caesar Augustus in 27 BCE and ended with the death of Marcus Aurelius in 180 AD.  The next few hundred years were violent times.  Many different rulers came to power.  


Two emperors introduced reforms to stop the decay.  Diocletian came to power in 284.  He divided the empire into two parts to make it easier to rule.  Diocletian controlled prices and forced farmers to stay on their land to help the economy.  Constantine came to power in 312.  He continued the reforms of Diocletian.  Constantine became a Christian and ended Christian persecution.  He also built a new capital, Constantinople.  As a result, the eastern part of the empire became the center of power, but these improvements did not last.


Historians use the year 476 to mark the fall of Rome.  In fact, the empire had been declining for many years.  Many factors led to the fall of Rome.  As the empire expanded and acquired more territory, taxes were increased to support the government and army.  In time, higher taxes wiped out the middle class, and trade and business suffered.  At the same time, an influx of slaves into the empire caused widespread unemployment.  The population declined because of disease and war.  This in turn led to a number of social problems, such as crime, moral decay and lack of interest in the government.  While the poor grew poorer the rich indulged themselves in idleness and pleasure.  Few people in Rome seemed to realize, or care, that the empire was crumbling around them.  


Beginning about the year 200, the orderly succession to the throne that had characterized the empire throughout its history ended.  Rival factions of the army fought civil wars and installed their own candidate as emperor.  During one fifty-year period, twenty-six different emperors ruled from Rome.  Of this number, twenty-five were murdered.  Such instability in the government weakened Rome and made it vulnerable to attacks from Germanic tribes to the north.


As Rome grew weaker, its army also declined.  Citizens ignored their duties and refused to enlist in the army, forcing officials to recruit barbarians who had settled within the empire.  The overall effect was that the army became undisciplined and ineffective.  All of these factors contributed to the takeover of the Roman Empire in the west by the Germanic Visigoth tribe in the year 476.  Gradually, Germanic customs, ideas and languages replaced Roman customs.

1. List 4 areas of the Roman Empire that showed signs of weakness or decline and provide one example for each. THINK S.P.E.A.R. (Social Institutions)

a.

b.

c.

d.

2. Which reason do you think contributed most to the decline?  Why?

